G9¢9¢-

%

hel

-120255

O 15eM yl0 G-09 | G-10 | H-02

>

Q
S

S

A
O
3 6‘/7

15228(1)
©200VU 6. 10% 52. 24m A
| 10,094 —10.414 s

9
13232 (2) 9) %87 ~ 9553 240 ’ { 7
= osz o ———— T - G —_ 9.678 — 9.918 ‘
— - M R i:

22001y ’é%?lzgegl)z

Ol |

31.00

-5.50

DI_IE _ /c:._ = : ==SSinmiinmnnnnit:xzInn 'A & &

——— 15234 (1) 2 Al

O]
i
oufi
cu
Jjo

1526 - o

©350HP 3. 40% 100. 09m
7.568 — 7.231
05w h—IL

9. 865
O

£8G 6 — (067 6

[w/ol'y 9%06 61 NAOOZ

15<h—IL

©350HP 2. 90%¢ (74, 97

25U R—IL

13226 (3)
©200VU 6. 60%0 6.08m
218 - 9.17

35T—IL

45—

BgiIE<ok—IL

20.20

T
Ry wl;/h]
[z
L
all

],
—
o] U |
> © i

o Ev U R—IL

BB R—IL
(EEER)

L1 .

H%Is v R—IL

BE<v HR—IL

L
|

. 10.[140

‘i“%%{‘lly

o
O 42.70 ¢ 7> -
Loyvwohk—IL

C
&
10. {59

avPY—kUR—IL

] .

1855KFET

49. 17m

B%TUR—IL

25.60
22.90

T
%
&

BAE<R—IL

TUR—ILRYT

>
©200VU 5.]90

&
&

FRigET AR
T UR—I

11.10 ::] N
74
., .Q /

KEARATUHR—ILML

Jmee (JB|loc|ee ® o) Hl e e e eo

EEHKUR—IL

BHIR

R

-------------- 3% E (FF %)

-------------- EEE R

mE

>

>
I\\\'\\
— |
{8 AL A A A L M TR g

d

o=

TR

g

{7

I F it

O

%

x = #l

e TR
( 2N IUR—ILES wEs vymri-\—)lzﬁ%
[ C e M1 O% &8 D ER
/o 111
(N R ° 200VU 4.0%o 40.00

M2

>0

O

9355 9.193
LRAIEES it Sl TRAEES

o (

<
P
9,
IR E =
sy
W A

Iy BlET R—IL

U~

1

3 hn PR

0,
.dc,%\ ;
28

innnnnnnnnnnnnnnannnnEnnnnnnnnnnnnEEnnEnnnnnnnnEnnnnnnnnnn

1A A

5

4

) K ] ] \l\ T 1] I|\(\ [ ] ]

—_
~
2N

O

-120550

50k B Km

~120550 4 A A A - 0

Al — A/

SHTEIA  HARHPRBEH AR R o w | | | G-15

0999¢-
G9¢9¢-

1l
=1

fER 1 :500



